HW 2-1 Selected Answers SeclH

1. Yes, a function D: {-7,-6,-2,3,8} R: {2,3, 4,5}
3. Yes,afunction D:{1,23,4,56,7,8} R: {234,56,7,8, 9}

5. No, the relation is NOT a function because the x-value 6 has two
different y-values 9 & 10.

7. No, fails the vertical line test.
9. Yes, passes the vertical line test.

11. No, the relation is NOT a function because the x-value 4 has two
different y-values 5 & 6.

13. Yes, passes the vertical line test.

15. No, fails the vertical line test.

17. g(4)=32 23. g(6)+ f(0)=67
19. f(9)=61 25. 2+ f(-9)=-45
21. f(a)=6a+7
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